¢ 530 BCE - Pythagorean Theorem:
a* +b° = c*
e 250 BCE - Area of a Circle:
A = mr?
e 100 - Heron’s Law:
A=+/s(s—a)(s —b)(s —c)
e 628 - Quadratic Formula:

 —b+ V% — dac

2a
e 1604 - Galileo’s Equation of Motion:

X

t+1t2
S =1U —a
2

e 1621 - Snell’s Law:
nqsin 87 = ny sin 6

e 1668 - Fundamental Theorem of Cal-
culus:

d xr
— t)dt =
= [ 1wa= 1w
e 1687 - Newton’s First Law of Motion:
F = ma

1



e 1687 - Universal Law of Gravitation:

mims
F=4 ;T

r

e 1737 - Euler product formula for the
Riemann zeta function:

<1 1\ !
-1 (-5)
n=1 P

e 1738 - Bernoulli’s Equation:

1
P+§pvz+pgh=k

e 1746 - D’Alembert’s Wave Equation:
O*u 0%
o2~ a2
e 1748 - Euler’s Identity
e"+1=0
e 1751 - Euler’s Law for Polyhedra:
V-_E+F=2

e 1763 - Bayes’ Theorem:
P(B|A)P(A)
P(B)

P(A|B) =



e 1785 - Coulomb’s Law:

F— L8y
r
e 1810 - Normal Distribution:
1 _(e—p)?
flrx) = ——e 202
() 2mo?

e 1822 - Fourier Transform:
F(w) :/ f(t)e ™t dt
e 1827 - Ohm’s Law:
V=IR

e 1845 - Navier-Stokes Equation:

0
p(a—ZJrV-VV) = —Vp+uVov +f

e 1852 -Beer-Lambert Law for light stream-
ing through a tree canopy:
GL

[ = Iy(1 — e st




e 1861 - Maxwell’s Equations:

vV.-E="L,
€0
V-B=0,
0B
VXE=——
8 o
E
VXB:,U)(]J‘F,UJOEOE

e 1900 - Planck’s Law:
2hc? 1

5 hc

BO\T) =

e 1905 - Einstein Special Relativity

E = mdc

e 1915 - Einstein General Relativity:

8¢

GMV + Ag;w — 7TMV

e 1926 - Schrodinger’s Equation:
ov h?
h— = — VU + VU
ot QmV i

e 1928 - Dirac Equation:

(iv'0, —m)p =0



e 1949 - Shannon Information Theory:
==Y plx)logp(z
reX

e 1971 - Cook’s Computational Complex-
ity Hypothesis:

P # NP
e 1973 - Black-Scholes Equation:
6’V 1, 282 oV
o-S S— —rV =0
ot R

e 1974 - Werbos’ Backpropagation Equa-
tion:
oF
= 0j0;
Ow;
e 1993 - Goldberg’s Completeness of Robot

Manipulation:

T
/ (5(0+ h) — s(6) — h]dd — 0
0
e 1996 - Internet PageRank Algorithm:

PRu) =Y P L}Z(;)))

veBy

e 2003 - Latent Dirichlet Allocation (LDA):
wd|(9d, ZP wd]z ‘@d)



e 2016 - Gravitational Waveforms (LIGO):

r

hus(t) = / ) %%([ab(t T ar

C

e 2017 - AI Transformer Equation:
QK"
Vi

AQ,K,V)=o0a( 1%



